
 

OASIS XOA 100 line OASIS XOA 100 line OASIS XOA 100 line OASIS XOA 100 line 

assembly instructionsassembly instructionsassembly instructionsassembly instructions    



 

ASSEMBLY SEQUENCE: 

1. STRUTS AND PLATFORMS 

2. PE ARCHWAYS 

3. SLIDES 84 

4. SLIDES 144 

5. TUBE SLIDE 

6. PARAPETS 

7. PALMS 

8. UNDERGROUND 

LAYING/ANCHORAGE OF THE 

STRUCTURE 



 

KEY: 

• bolts insertion  

• space  

(a) support 

(i) underground  Follow the layout for correct positioning of the bolts. 



 

1. Fix the platform (1) to the struts (2), inserting the 

relevant bolts into the holes on the wings at the corners 

(as shown in the attached layout), as indicated in the 

figure. 

2. Repeat the operation for the other towers if necessary. 

3. Once all of the structure has been fixed, insert other 

TEFR screws into the empty holes in the wings (using the 

same procedure as above) to give increased robustness; 

first drill the struts with the Ø5 mm bit supplied. 

NOTE: colours and models represented are purely 

representative. 

Article 
num. 

  

Quantity NAME 

1 1 Oasis triangular platform 

2 3 Oasis aluminium strut 

3 2 PE nut protection cap 

4 2 IS07089 Ø8 washer 

5 2 M6,3x60 TEFR SCREW 

6 2 PE cap 



 

1) 4 x PE cap 

2) 2 x M8 nut 

3) 4 x M8 washer 

4) 4 x PE nut protection cap 

5) 2 x M8x40 HEX Screw 

6) 1 x slide entrance panel 

NOTA BENE: the slide entrance panels have different inner shaping for the 

slide depending on the height of the fixing panel. Check the indication 

present on the panel itself. 

1. Centre the slide entrance panel (6) between the struts and the platform 

and start to fix the lower part of the panel to the platform by inserting the 

necessary fixing bolts into the slots present on the edge of the platform.    

 

NOTA BENE: it is recommended to fix 

the bolts definitively and only insert 

the caps once the correct positioning 

of the elements has been verified. 



 

NOTA BENE: it is recommended to fix the 

bolts definitively and only insert the caps once 

the correct positioning of the elements has been 

verified. 

1) 6 x PE nut protection cap 

2) 6 x M8 washer  

3) 6 x M6 3x60 TEFR SCREW 

4) 6 x PE cap  

1. Drill the struts using the Ø5 bit supplied. 

2. Fix the slide entrance panel to the struts using the 

relevant bolts, as indicated in the figure. 



 

1. Drill the small struts using the 

Ø5 bit supplied. 

2. Fix the slide to the small struts using the 

relevant bolts as indicated in the figure. 

1) 4 xPE cap 

2) 4 x M6 3x80 TEFR SCREW 

3)    4 x washer 

NOTA BENE: it is recommended to fix the 

bolts definitively and only insert the caps 

once the correct positioning of the 

elements has been verified. 



 

1. Fix the (2) tube slide body to the bracket using the relevant 

bolts, as indicated in the figure. 

The tube entrance must be positioned at the same height as the 

platform (see figure 1). 

NOTA BENE: before proceeding with 

fixing, drill the struts using the Ø5 

mm bit supplied. 

Article 
num. 

  

Quantity NAME 

1 6 PE nut protection cap 

2 1 Oasis assembled tube slide 
3 6 PE cap 

4 6 IS07089 Ø8 washer 
5 6 M6,3x100 TEFR SCREW 



 

Article 
num. 

  

Quantity NAME 

1 1 PE bamboo parapet 
2 4 PE nut protection cap 
3 4 PE cap 
4 4 IS07089 Ø8 washer 

5 4 M6,3x100 TEFR SCREW 

Fix the protection panel using the relevant bolts, as indicated in the 

figure. 

The lower part of the panel is adjacent to the upper part of the 

platform. 

NOTA BENE: before proceeding with fixing, drill 

the struts using the Ø5 mm bit supplied. 



 

NOTA BENE: Before proceeding with fixing, drill the struts using the 

Ø5 mm bit supplied. 

Fix the PE palm to the top of the strut, inserting the screw as indicated in the 

figure. 

NOTE: colours and models represented are purely indicative. 

M6 ,3x90 mm TEFR screw 



 

1. Excavate a hole with Ø 30 cm and depth of 60 cm 

2. Cast a first layer of concrete with thickness of 10 cm. 



 

3. When the concrete has set, 

position the strut upright in the excavation 

hole. 

4. Complete concrete 

casting as per layout. 

5. When the concrete 

has set, fill the 

excavation hole by 

compacting the infill 

material up to the 

finished ground level. 



 

 1. Excavate a hole with diameter of 30 cm and depth of 60 cm 

2. Cast a first layer of concrete with thickness of 10 cm. 



 

3. When the concrete has set, position the slide bracket in the 

excavation hole, checking the correct alignment of the lower 

part of the slide with the finishedground level. 



 

4. Complete concrete 

casting as per layout. 

5. When the concrete 

has set, fill the 

excavation hole by 

compacting the infill 

material up to the 

finished ground level. 



 

1. 1. 1. 1. AAAAttach the brackets (1) by introducing the followinttach the brackets (1) by introducing the followinttach the brackets (1) by introducing the followinttach the brackets (1) by introducing the following in g in g in g in 

sequence: PE nut protection cap (2), M8 washer (3),  M8x25 sequence: PE nut protection cap (2), M8 washer (3),  M8x25 sequence: PE nut protection cap (2), M8 washer (3),  M8x25 sequence: PE nut protection cap (2), M8 washer (3),  M8x25 

hex screwhex screwhex screwhex screw    (4), PE cap (5)(4), PE cap (5)(4), PE cap (5)(4), PE cap (5)    

1. Excavate two holes with diameter of 30 cm and depth of 60 cm 

NOTA BENE: it is recommended to fix the NOTA BENE: it is recommended to fix the NOTA BENE: it is recommended to fix the NOTA BENE: it is recommended to fix the 

bolts definitively and only insert the caps bolts definitively and only insert the caps bolts definitively and only insert the caps bolts definitively and only insert the caps 

once the correct ponce the correct ponce the correct ponce the correct positioning of the ositioning of the ositioning of the ositioning of the 

elements has been verified.elements has been verified.elements has been verified.elements has been verified.    

3. When the concrete has set, position the climbing board brackets in 

the hole, checking the correct alignment of the lower part of the 

climbing board with the finished ground level. 

4. Complete concrete casting as per layout. 

5. When the concrete has set, fill the hole by compacting the 

infill material up to the finished ground level. 

2. Cast a first layer of concrete with thickness of 10 cm. 



 

1. Excavate two holes with diameter of 30 cm and depth of 60 

cm as per layout. 

2. Cast a first layer of concrete with thickness of 10 cm. 



 

The measurements vary on the basis of the entrance to the slide 

from a minimum of 20 to a maximum of 35 cm. 



 

3. Complete concrete casting as per layout. 

4. When the concrete has set, fill the hole by compacting the infill material up 

to the finished ground level. 



 

Article 
num. 

  

Quantity NAME 

1 1 Oasis support strut H.333 
2 1 59x59x35 stainless steel angle 

bracket 
3 2 PE nut protection cap 

4 1 IS07089 Ø8 washer 

5 1 M6,3x80 TEFR screw 

6 1 M10 self-locking screw anchor 
7 1 M10 self-locking nut 
8 1 Ø10 washer 
9 2 PE cap 

1. Position the strut and the angle bracket onto the support 

surface, marking the position of the screw anchor. 

2. Drill the support surface and position the screw anchor. 

3. Fix the angle bracket to the support surface (if not 

previously performed) using the relevant bolts, as indicated 

in the figure. 



 

1. Position the climbing board on the support surface and  

mark the position of the screw anchors. 

2. Drill the support surface and position the screw anchors. 

3. Fix the angle brackets to the support surface using the  

relevant bolts, as indicated in the figure. 

NOTE: the combination of colours and models 

represented is purely indicative. 

The climbing board can be at a height of 84-

144-192 cm. 

Article 
num. 

  

Quantity CODE N. NAME 

1 2 xpe10 PE nut protection cap 
2 2 xpe116 PE cap 
3 1 - PE climbing board 
4 2 xfe265 59x59x35 stainless steel angle 

bracket 
5 2 _ M10 self-locking nut 
6 2 _ Ø10 washer 
7 2 - M8x115 screw anchor 



 

Article 
num. 

  

Quantity NAME 

1 2 Tube slide anchorage bracket 

2 8 PE nut protection cap 

3 8 M10 self-locking screw anchor 
4 8 Ø10 washer 
5 8 M10 self-locking nut 
6 8 PE cap 

1. Adjust the bracket (1) to the necessary height. 

2. Mark the position of the screw anchors on the ground. 

3. Drill the support surface and position the screw anchors. 

4. Fix the bracket to the support surface using the relevant bolts, as 

indicated in the figure. 



 

 

Article num. 
  

Quantity CODE N. NAME 

1 1 xfe265 59x59x35 stainless steel angle bracket 
2 2 xpe10 PE nut protection cap 
3 2 xpe116 PE cap 
4 1 _ M10 self-locking nut 
5 1 _ M8x115 screw anchor 
6 1 _ Ø10 washer 

1. Position the slide on the support surface, marking the position of 

the screw anchor. 

2. Drill the support surface and position the screw anchor. 

3. Fix the angle bracket to the support surface using the relevant 

bolts, as indicated in the figure. 

N.B. The combination of colours and models represented is 

purely indicative. 

The slide can be at a height of 84-144-192 cm. 


